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1 756 M.I INE EE
2 586 403 PN i) INL/NERR
3 462 TN IR IR FET RE/DER
4 430 TR HEH NGO
5 420 5H f5Th EiE /R
6 384 K.MARI % FiT BT RGN AR
7 383 3-27 Hhomh FEINER
8 380 KAR #&F f5Th EiE/NER
8 380 BiE BE f5Th IR
10 379 TI 2Hm E LB /INVER
11 356 1-12 T KEF/DNFR
12 350 K.R INE EE
13 348 =%410 B LLTH =R/
14 341 KN BHT ESMETT NS
15 334 HY kI 8 B /NP A
16 330 AM kI 8 B /NP A
17 327 Y K kI 8 B /NP AR
18 316 HE12 2Hm B /MR
19 315 4319 AT ES/hE
19 315 AT INVETH K IINER
19 315 N.Y kI 8 B /NP A
22 311 TR INVETH b & B/
22 311 N.T wFFH 8 B /NP AR
24 300 408 2Hm BRIV
25 296 415 2Hm FHkILNER
26 287 409 2Hm FHKILNER
27 284 MY f2Hm ESMETT N5
27 284 H.R =EHmr IF /INERR
29 282 107 HEH =EfE/NER
30 275 d.u 2HTh TEREINFER
31 274 B H = [EHfT It B /INERR
32 270 1-15 Hhom £ERINER
33 263 4327 24l ES/hER
33 263 BE7 fi=Cauit] B /MR
35 253 AN = [EHfT It B /INERR
36 245 0-M #5:Th TR/
37 232 4332 24l ES/hER
38 231 401 NSl INLZNEERR
39 230 2-14 Hhom £E2INER
40 228 SS HEW NGNS
41 224 A Hhomt = RN
42 217 M.M RIFTH B B /NP A
43 215 uy INVET SE/NMNER
44 213 4207 AT ES/hER
45 212 Y.S INVETH =EUNER
46 210 M.T RIFTH B B /NP A
47 209 MM INVETH A BN R
48 202 HE11 2Hm B /MR
49 200 A.O RIFTH B B /NP A
49 200 F VAN = [EHT Iiff /R
49 200 H.A = [EfT MNEINERR
52 195 MS INVET WK /DNER
52 195 YK 2Hm JB/NEEES
54 192 Y A INE EE
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55 190 YM INETH AN
55 190 H-Y B Tmh B TR/
57 186 2-5 AT K E B /INVER
58 183 FS INETH SENFER
59 182 S. S Hhom FHINER
60 181 M.K INVE EE

61 175 M.H = [EfT JFE /NERR
61 175 NI f2Hm JB/NERR
63 174 4228 FLEI T EES/DNFER
64 171 4103 AT E S/
64 171 L& = [EfT Iiff B/NERR
66 170 M.I INVE EE

66 170 SK Ear 000 BREINER
68 169 M.A INET 0 sHNEERR
68 169 HYS AT FITHE/INVER
70 167 4126 #_ﬁu il =/NER
70 167 410 2Hm FKILNER
72 166 AR BB RFTH FIIA/NER
73 165 2-3 Hhom £
73 165 KE F RFTH BHE/NER
75 158 Y.H kI 8 B /NP A
76 154 YK IJ\,,\ it K IINER
76 154 407 2Hm BRI INERS
76 154 AW 2HTh JB/NEERR
79 153 w21 RFH SR/INER
79 153 BAR AT i Bz /R
81 152 209 HET HEmR/INER
82 151 4220 HaEth EE /N
83 150 Y.H INE EE

84 149 hn 7K FFHT SEE R
84 149 w2-5 kI SR/NER
84 149 w1-6 R SR/INER
87 148 LR INE EE

87 148 KY HET RN
89 146 2-13 Hhom £E2/INER
90 139 H¥ = [EfT I B/
91 138 N.A INE EE

92 137 F Y NES K FFHT S HE/NER
92 137 ty JKEZFHET E L NER
94 134 T-AZ BsLT FF /MR
95 133 413 Gi=Eadit] AL DNER
96 132 e K FFHT HHE/DNER
97 130 HE BAEE S Eaait] BEHE/NFER
98 129 YA D Hhom = R/
98 129 1Y INVET A BN R
98 129 ST INET A BN R
98 129 2R It S ait] EIIM/NDER
102 128 KA = [EHT INE /N
103 126 wi-12 P SR/DER
103 126 £H = [EHT Iiff /R
105 125 A-M sl FF /DR
105 125 Lh S Eaait] EIIR/INER
105 125 wi-15 RF™H SER/INER
105 125 YS HET ﬁﬁ/]\*é'&
105 125 HA HET NG5S
110 124 #lE1a b Eaait] FIIR/INER
111 123 h.h 2Hm TEEINFER
112 122 WA B #5:Ih & iE /AR
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113 121 4315 AR ET T EE/NER
113 121 KM INET AN BN
115 120 YW INETH A BN R
115 120 T.R INETH NENEE N
115 120 w2-15 AT SN
118 119 1-32 HhHhot FEINER
119 118 2-29 Hhot FEINER
119 118 401 2Hm FKILDNER
121 116 4127 AT E S/
121 116 wi-8 AT SRR/INER
123 115 AM INETH 0 sHNEERR
123 115 =411 B LU =FINFER
123 115 HM i ESMETT NS
123 115 BAREE = [EfT it B /N
127 114 Asa BELlL T F /DR
127 114 404 2Hm FEKILDNER
129 113 T & IR HT =E/NER
130 111 4109 AT ES/MER
130 111 K.A INE EE

130 111 205 HEH HEmR/NER
130 111 WA _Eit 5 SR ET =FE/INFER
134 110 4125 AT ES/hE
134 110 w2-7 RFH SR/INER
136 108 UH AT #LL/NERR
136 108 4304 AT ES/hE
136 108 HS oAl = EA/NER
136 108 ;a8 DK R BHE/NFEERS
136 108 NR HEH NGNS L5
141 107 Y-N #5Th TR /IR
141 107 EnEES = [EHAT I B/
143 106 B EEF I B B/NVERR
143 106 =28 Bx #5:Th & IE /AR
143 106 S.N = [EHfT M /NER
146 105 Y.C 24l AL/
146 105 #ZH = [EfT It B /INER
148 104 203 HEH HEE/NER
148 104 YS 2HTh JB/INERR
150 103 3-31 Hhoth 2N
150 103 4222 T ES/hER
150 103 Kaho B LT FHRE/NERR
150 103 w2-2 RFH SER/INER
154 101 4328 T E S /MR
154 101 1-11 T KEF/DNFR
156 100 2-18 Hhiot EEINER
156 100 pLH Hhom B RN
156 100 2-3 T KEF/DNFR
156 100 ZH HRE #5:Th & iE /AR
160 98 4326 AT E S /MR
160 98 1-3 AR Ei KEF/NER
160 98 402 PN dit] INLZNERRR
160 98 40124 B LT BES P/ DN
164 97 2-12 T KEF/NER
165 96 e o) S ait] BEHE/ R
166 95 4303 AT ES/hER
167 92 KK INVETH SE/IMNER
167 92 oM INVET A EIDN R
167 92 Haru B LT FHRE/NERR
167 92 hig FEk #5:Ih & e /AR
167 92 U-K 5 JEET BF/INER
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172 91 3-6 Hhom R INER
172 91 Y.Y R A L/
172 91 4210 AT EE/NER
172 91 2-7 AT KEF/DNFR
172 91 ES i ESNMETT N5
177 90 w1-20 RFH SN
177 90 W-M = JRET BRNER
177 90 NR HEH AR /DA
180 89 K. K Hhot FHINER
180 89 3-8 Hhot FEINER
180 89 M.I = [EHfT INE N
183 88 3-19 Hhom FEINER
183 88 d #BwhE Y aait] BEHE/NER
183 88 Hh MEx f5Th B2 /N
186 87 1-5 R EI ™ KEF/NFR
187 86 w2-12 RFH SER/INER
187 86 =ik = [EfT It B /INERR
189 85 A3 BRF B5iIh BIE /N
190 84 3-5 Hhom EEINER
190 84 w1-5 kI SR/DER
192 83 N-Y BB B HEE/NFER
192 83 NR INVETH SENMNER
192 83 Hina B LU FHREN/NERR
192 83 7 EF = EET FH/NER
196 82 1-11 Hhom EEINER
196 82 4103 5% B AT IEINET A
196 82 40128 BElLmH g P /INVERR
196 82 N-A = JRET BPNER
200 81 KY INETH h & H/INERR
200 81 #H = [EfT I B/




